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Lesson 10

Start Chapter 7

Quadratic functions. Parabolas
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f (x) = |1� 2x |. Find a multipart formula for f, draw the graph of
f and solve f (x) = x � 3.

-

3 = 11 - xx)
xx
,
-3)

y
= 1 - 2x 10 y = - (1 - 2x)--O

12I
x intercept : 0 = 1- 2x S 2x = 1x =

1

1 - 2x if x = t
- - 2x) ifx



f(x) = 11 - 2x1

1 - 2x if ( - xx = 0)

11- 2x1 = E
x
= I

- (1 - 2x)if(1 - xx)0)
x > I

1 - 2x 7 0

12 2x

I X
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1) 1 - xx = x - 3 if x
= I

4 = 3x

-3 - X Is
* I ? No2~

DiSCARD

2) - (1 - 2x) = x - 3 if x >
- 1 + 2x = x - 3

X - - 2 is- - 2 I ? No↳
DISCARD

↳UTIONS



11 - 2x) = X - 3 f(x) = 3(x)

3 = 11 -2x1 y
= x - 3

y
= 2x - 1 y = 11 - 2x)

- y
= x - 3

0 = X - 3I 8

3 =X

i~~and Pine do

not intersect



How do I find intersections

bet wen curve y = 12x
- 11

end y = x-3
P(x , 3)

I need to softe system .

y = 12x - 11
= 7 12x - 1) = x -3E y =x

- 3 ↓

solving this gives me the X

coordinates of points of intersection
between V curve end line

.
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A quadratic function is a function given by a quadratic formula :

f (x) = ax2 + bx + c a 6= 0

or
y = a(x � h)2 + k

The graph of a quadratic function is a parabola

Chapter I

stenderd
Ex f(x) = 2 x 2 - x + 1 form

vertex form
Ex g(x) = 2(x - 5) 2+ 7
-

y
= ax + b x + c

W=

*. .. . . .
& >0 & < 0
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The vertex of a parabola is a point (h, k) that is either the
highest (when a < 0) or the lowest (when a > 0) point of the
parabola

Vertex form: y = a(x � h)2 + k

x = h is the axis of symmetry for a parabola with vertex (h, k)

V Vertex v = (h , k)
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From standard form to vertex form

Given the parabola y = 3x2 + 5x + 6 , put it in vertex form and
draw it. ②
W
1
= Ch

, k7

y = a(x
- h) + k

y
= 3(x - h) + k



y
= 3(x2 - 2x + 42) + k

0 >y
= 3x2x+ 342 + k

-

- 2 . 3 . 4 =
5

n = 5
- 5-

⑩
342 + k = 6



k = 6 - 3[ - 5)=
Vertex form

3(X - (5)+

i-R
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The parabola
f (x) = ax2 + bx + c

has vertex

h = � b

2a

k = f (� b

2a
) =

�(b2 � 4ac)

4a

V= (h
, kF5(n)

X
*

W
k = f(h) = ab2 +

bb + <


